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K7 Final-Exam #3 Xx# (B) Lesson 10 ~ 19(# %)
I
Class : Name : a3
— ~EEMHE 1% (&% 3 5) e
_ ) _ _ ok
3 )1.He is eating (L quick@ quicker®@ quickly@ more quickly). % %

(
(
(
(
(

vy~

4 )2.Summer is ((Dthe hottest@ hottest@ the hotter® hotter)season.

2 )3.My grades are((Dbad@ worse@ worst@the worst) than yours.
3)4.1 am(Dyoung@the younger@the youngest®younger)than my sister.

3 )5.Mary’s sweater is more expensive than (11
S EF RIS A B By b B

28% (4 #% 1 4 )

2Dmy @yours @her)

1. writes / carefully / My / homework / sister / | / than / .

My sister writes homework carefully than |I.

J7 A5 5 # L | & A FE R H & &) 39 &) ) L 3
good better best well better
bad worse worst badly worse
hard harder hardest hard harder
fast faster fastest fast faster
early earlier earliest early earlier
late later latest late later
beautiful more beautiful |most beautiful beautifully more beautifully
hungry hungrier hungriest hungrily more hungrily
HFEm: 12%

2. my/in/ the / boy / class /is / tallest / David / .
David is the tallest boy in my class.

3. sometimes / school / | / late / to / go / .
| sometimes go to school [ate.

s E AR A 20%

1. How is he eating? ( hungry )

He is edting hungrily.

2. Does a car go faster than a bicycle?
Yes, d car goes faster than a bicycle.

3. Are your English grades better than your math grades?
Yes, my English grades are better than myv math grades.

4. Which is the fastest? ( bicycle / motorcycle / airplane )

An dirplane is the fastest.

5. Who is the tallest boy in your class?
David is the tallest boy in my class. (A #t +F 8 4 %)

~ e a t 25%

f) - {

Taichung (4

— Taipei is the biggest of the three.

R

Lisa is six years old.
David is ten years old. (B older 4 )
— David is older than Lisd.

) is bigger than Tainan(4 & ).
Taipei(4 4t ) is bigger than Taichung.

2.{A chair is more comfortable than o bench.
A sofa is more comfortable than a chair. (B =% & & 4 #)

— A sofa is the most comfortable ( of the three.)

3./ Lisa is five years old.

Mary is seven years old. (B younger 4 %)

— Lisa is younger than Mary.

4. 1 David is younger than Ben.

Ben is younger than Mary. (M youngest 4 fi )
—__ David is the youngest ( of the three.)

R

Lisa’s jacket costs $200.
David’s jacket costs $500. (B more expensive 4 {f)

— David's jacket is more expensive than Lisa’s jacket.




